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Using Property of Logs to Solve

1. Simplify to use the One-to-One Property

2. Cancel out logs on each side

3. Solve for the variable
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Using Log Properties to Solve

Solve each equation.

1) ieg, (4x+6) =log, (-5x+9) 2)13&&(3%1): 2r
Yx+b= -Sx+9 Be-1=2¢
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Ix+lb= 9 - o
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K - 1220
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3Nag (7-7) :‘l'og(ZZr 4)\&5 n :‘l'o.%(%' +6)

7-C =-2c N= ‘/n*(ﬂ
7= - \ ~ 3{\’,(7 r\: '2—
-2 =4
5) log, x— log; (x+5):10g5 26 6) log, x — log, (x-2)= log, 78
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| g XY
= &%l-&_,_)_ 26(x+s) (x+5) |
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X= 2bx+10
~ 5% ~ 10
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X~ 28 * ?CZS
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6) log, x
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- log, (x-2)= log, 78
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7) log9x2—10g94:2 8) log4x2—log49:5

9) log, 3x+log, 4 =log, 56 10) log, 3 - log, (x-3)=1
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9) log, 3x+log, 4

N/

)Oj(ogx.q - loj‘os(o

M'ZX—.

2=~ L,

/
1 2 ’jﬁz

= log , 56
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2x= 14
<= '3/
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11) log (x+4)—log5x:2 12) log, 3 —log, -S5x=1

13) In 3 - In 4x=2 14) log, 5 log, (x +3)=3
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15) log, (x+4) +1log, (x-2)=1 16) log, 2 - log, (9-5x)=1

17) log, (x+2)— log (x— 1)=2 18) log, 10— log (31— 10)=log8 7
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15) log, (t+4]+log 2)

\ Condeense. /

\Oj () e2) =

Fog,, (xr)(32) = 195!
(x+9)x-2)= 7
XE+4x-ox -8 = T
XS +2x-8=T]
)(2' + 2% -15=0
/7

-1 15
=1S- |

N>

(-3 (1= O
X= 3y X= -‘3

=1 k New Prafcf‘i-u]

)
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Algebra 2 CC

Using Log Properties to Solve
Solve each equation.

1) log, (4x+6)=log, (-5x+9)

3) log 5 (?— ?')= log . —2r

5) log, x— log; (x+5):log5 26

7) log, x - log,4=2

9) log, 3x+log, 4=1og, 56

11) log (x+4]— log; x=2

13) In3— In 4x=2

15) log . (x+ 4)+]0g7 (x—2)=1

17) log, (x+ 2)— log , (x— 1)=2

2) log , (3?‘— 1)= log,, 2r

1) log6n=10g6(4n+6)

6) log, x — log, (x—Z):logg 78

8) log4x2— log, 9=35

10) log, 3 - log, (x—3)=1

12) log, 3 - log, -5x=1

14) log, 5 log, (x+3)=3

16) log, 2 - log, (9-5x)=1

18) log, 10 — log, (3x— 10)=log, 7
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18) log, 10 - log, (3x - 10)=IDEE L
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Algebra 2 CC

Using Log Properties to Solve
Solve each equation.
1) log, (4x+6)=log, (-5x+9)
(1
13)
3) log 5 (7 - ?') =log . —2r
)
5) log, x— log; (x+5)= log 26

No solution.

7) log, x - log,4=2

{18, -18]

9) log, 3x+log, 4=1og, 56

11) log (x+4]— log; x=2
L
6}
13)In3-In4x=2
(3]
|4¢” |

15) log . (x+ 4)+]0g7 (x—2)=1

g

17) log, (x+ 2)— log , (x— 1)=2

17

|16/

2) log , (3?‘— 1)= log,, 2r

ik

1) log6n=10g6(4n+6)

No solution.

6) log, x — log, (x— 2) =log, 78
(156
| 77 |

8) log4x2— log, 9=35

{96, —96}

10) log, 3 - log, (x—3)=1

27]
| 8]
12) log, 3 - log, -5x=1
3
5

|75

14) log, 5 log, (x+3)=3
[ 19]
| 8]

16) log, 2 - log, (9-5x)=1
17)
|10/

18) log, 10 — log, (3x— 10)=log, 7
|80]

(21]
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